Hopaocryno 1
To mapayovTiKo €vOg un apvVNTIKOV OKEPALOV
aplOpov N opiCeTor He AVAOPOULKO TPOTO OTTO TIS
Y £GELS:

0=1 kot n!=n(n-1)! ywe n>0.
No ypawyete Tpoypoupa mov CNTaeL amxo To YpnoT

VO ELGAYEL £VO. U1 GPVITIKO CKEPULO aPLlOuo N Kol
VITOAOYICEL KU1 EKTVTMVEL TO TOPAYOVTIKO TOV.



#include<iostream>

using namespace std;

long int factorial(int);

Int main ()

{

Int n;

long int fact;

cout<<*“\nAssign value to n :”;

cin>>n;

while (n<0)

{
cout<<*“\n The number n should be > 0”;
cout<<*“\nAssign again value to n:”;
cin>>n;



fact=factorial(n);
cout<<‘“\nThe factorial of n is : ”<<fact;
return O;

}

long int factorial(int k)

{
long Iint f;
If (k==0)
f=1,;
else
f=k*factorial(k-1);
return(f);

}



Hoapaostypo (Goxknon 10.1)

Na ypayete mpoypoupo wov Oa Cntael amo to
ypiotn 30 Cevyn akEépor@y OeTik@V aprOpov Kot

O0a Ta amodnkever o€ éva wivaka A 2X30 Osoe@v,

Y TO TPOTO CEVYOS Ba To amodnKevEL 6TO GTOLYELN
A[0][0] xon A[1]]0], k.A.7t. XTN) ovvEY e OO0,
onuovpyel kon 0o ekTvrovel Tov wivaka B 3x30

TOV 07TOLOV 01 OVO TPMOTES YPUUNES Oa TavTiCovTon
ne Tov wivoko A Kot 1 tpitn 0a opiletor 0o TOV TOTO
B[2][1]=M.K.A.(A[O][1],A[1][1]) Yo kaO¢ i=0,...,29.
Na ypNGLUOTOMGETE GVVAPTION Y10 TNV EVPEGT] TOV
ML.K.A.



#include<iostream>
using namespace std;
Int mkd(int, int);
Int main()
{
int A[2][30],B[3][30].ij;



for (j=0;J<30;j++)
1

cout<<‘“\n Assign a positive value to A[0][“<<j<<*] :”;
cin>>A[0][j];
while (A[0][j]<0)

{
cout<<“\n A[0][’<<j<<*] must be positive”;
cout<<“\nAssign again value to A[0][“<<j<<*] :”;
cin>>A[0][j];

}

cout<<“\n Assign a positive value to A[1][“<<j<<“]”;
cin>>A[1][j];
while (A[1][j]<0)

{
cout<<“\n A[1][”’<<j<<*] must be positive”;
cout<<“\nAssign again value to A[1][*“<<j<<*] :”;
cin>>A[1][j];

}



for (1=0;i<2;1++)
1
for (J=0;)<30;j++)
\ BLIDI=ADIDT

for (J=0;J<30;j++)

B[2][1]=mkd(A[O]LLALLILI);
for (1=0;1<3;1++)
{

cout<<endl;
for (J=0;J<30;j++)
cout<<B[i][j]<<*

}

return O;



Int mkd(int x, inty)

{

Int m;

while(x!=y)

{

if (x>y)
X=X-Y,

else

y=Y-X,
}
m=x;
return (m);



Hopaocrypo (doknon 10.3)
Na ypayete Tpoypoupa mov 0o vworoyiler pe
™ Pon 0o cuvapTNGE®Y TOV N-06TO OPO TNG
VOO POULKTS GKOA0VOLOG
X,=(n-1)!x,,+(n-2)Ix, ,, Nn>2.
Ov 0v0 Tp@TOoL 0poL X1, X, O kKaBopilovrar amo
TO YPNOTY.



#include<iostream>
using namespace std;
long int factorial(int);
long int rec(int, Int, int);
Int main()
{
Int x1,x2,n;
long Int X;
cout<<*“\nAssign value to the first term :”;
cin>>x1;

cout<<“\nAssign value to the second term :”;
cin>>x2;



cout<<”\Assign a positive value to n :”;
cin>>n;
while (n<=0)
{
cout<<“\n The number n must be positive”;
cout<<*\nAssign again value to n :”;
cin>>n;
}
X=rec(x1,x2,n);
cout<<*\nThe ”<<n<<“term of the
seguence IS :”<<x;
return O;



long int factorial(int k)
{
long int f;
If (k==0)
f=1,;
else
f=k*factorial(k-1);
return(f);

}



long int rec(int y1, int y2, int m)
{
long int y;
If (m==1)
y=y1;
else iIf (m==2)
y=y2;
else

y=factorial(m-1)*rec(yl,y2,m-1)+
factorial(m-2)*rec(yl,y2,m-2);

return(y);



Hapdaostypa 2
Na ypayete poypoupa wov 0a owapacer Eva
5Xd IvaKa A OETIKOV OKEPALMV HIKPOTEPMOV N
oV Tov 20 (amortettar £Aeyyoc opOoOTNTOS
0E00UEVMV) Kat 00 oOnuiovpyel Tov SXO mivako,
B t0v 0010V TO 6TOVYELN OLVOVTUL OITO TOV TUTTO

[3u — :E: /\k!

1<K <
Yo k@0g 1<I1,J<5.
O vroAoyopoc TOV TAPAYOVTIK®Y Q0 yiveTan

ne T ypnon evvaptnons. To wpoypoppa O
TUTTAOVEL KL TOVS 000 TIVUKEG.



#include<iostream>
using namespace std;
long int factorial(int);
int main()
{
int A[5][5], 1,J.k;
long int B[5][5];
for (1I=0;1<5;i++)

{
for (j=0;j<5;j++)
{
do
{
cout<<*“\nAssign a value greater than 0
and lower than 21 to the (“<<i+1<<»,”
<<j+1<<*) element of A :”;
cin>>A[i][j];
}
while(A[1]0]<0 || A[i][1]>20);
}



for (1=0;1<5;1++)

{
for (j=0;)<5;j++)
{
B[1][]=0;
for (k=0;k<=j;k++)
B[1][j]=B[i][j]+factorial(A[i][KD;
}
}

cout<<*\n The matrix A \n\n\n”;
for (i=0;1<5;i++)
{
cout<<end]I;
for (j=0;)<5;j++)
cout<<Ali][j]<<* “



cout<<*\n \n\n The matrix B \n\n\n”’;
for (i=0;1<5;i++)
{
cout<<end]l;
for (J=0;)<5;)++)
cout<<B[i][jl<<*

}

return O;

}

long int factorial(int m)
{
long int f;
If (m==0)
f=1;
else
f=m*factorial(m-1);
return(f);



ITapdoerypo 3

['payte TpOypOALLO TTOV VO EKTUTOVEL TO
OTTOTEAEGLLOL VTTOAOYIGLLOV UIOC OO EVOL
GUVOAO GUVOPTNGEMV (TETPAY®VO, KVPOC,
VYM®GT GE OVVOUT, AVTIGTPOPOS, AOYAP1OLOC,
ATOALTN TIUN) TNG LETAPANTNC E1GO00V X,
KOTOTLV OVTIOTOLYNG ETAOYNC TOL YPNOTY.



#include<iostream>
#include<math.h>
using namespace std;

Int main()

{
Int choice, n;
float X, y;

cout<<"\n enter value of x:";

cin>>X;

cout<<"Choose function to calculate:\n";
cout<<"Enter 1 for square of x,\n";
cout<<"Enter 2 for cube of x,\n";
cout<<"Enter 3 for power of x,\n";
cout<<"Enter 4 for inverse of x,\n";



cout<<"Enter 5 for logarithm of x,\n";
cout<<"Enter 6 for absolute value of x,\n";
cout<<"choice=";
cin>>choice;
If (choice==1)
y=pow(X,2);
else
If (choice==2)
y=pow(x,3);
else
If (choice==3)
{
cout<<"Enter exponent:";
cin>>n;
cout<<"\n";



y=pow(X,n);

¥
else
If (choice==4)
{
If (x!=(0.0))
y=1.0/X;
else
{

cout<<"Can not
calculate inverse of zerol\n"':

return -1;

else



If (choice==5)

{
if (x>(0.0))
y=log(x);
else
{
cout<<"Can
not calculate logarithm of non positive number\n*;
return -1;
¥
}
else
If (choice==6)
y=fabs(x);

else



{

cout<<"invalid choice "<<choice<<", exiting without
calculation\n";

return -1;

cout<<"result y="<<y<<"\n";
return O;



EmnAEov TpOTAGEIC-EVTOAEC
EAEYYOL PONC TPOYPOALLLOTOC
e SWitch
* BonOntikég evioAEc:
—break

—continue
—goto



EvtoAn switch

Y AOTO1El EKTEAECT KMOOIKO, «LTO GLVOTKN
AVUAOY®C TNG TIUNG WO EKQPPACNC EAEYYOL
switch (expression) {

case const expr 1 :

statements 1

case const expr 2 .

statements 2

case const exprn :
statements n
default:
statements

¥



H éxppaon eAEyyov mpénet va, eivan
OKEPOLOV 1) OLKPLTOV TOHTOV (1] OLVALEL
dtokp1tov THToVL Y. Bool

Ot ekppaoelg kabe mepintmwong (case)
TPEMEL va ETvol 6TaEPEC (VO EMOEYOVTOUN
OTTOTIUNGNC KOTA TO ¥POVO LUETOYAMDTTIONC).

To npOypoppa, EKTEAEL TIC EVTOAES TNC
TEPITTMOONC TOL OVTICTOLYEL GTNV EKQPOCT)
EAEYYOV

KAI 2YNEXIZEI XTHN EIIOMENH

TEPITTWOT, EKTOC K1 AV DITAPYEL EVIOAN
allayng pong (break, goto, return, ...)



EvtoAn break

XPNOIUOTOIEITAL LOVO O) LIE TNV EVTOAN
switch B) evtog umhox evtodmv Bpoyyov
(loop) for, while, do-while

O EAeYYOC PONG TPOYPAULUATOC LETAPEPETOL
OTNV ETOUEVT] EVTOAT OTTO OVTY) TOV TTEPIEYEL
TNV €vtoAn break.



[Tapdoeryuo break

Int I,

while (true) {

cout << "Amoce éva Oetikd akepato: ;
cin >> |;

cout << \n’;

If (1>0){

break;

J

cout << “apvntikdg axépalog, dokipace Eovain®;

}



EvtoAn continue

XPNOIUOTOIEITAL HOVO EVTOC UTAOK EVIOAMV
Bpoyyov (loop) for, while, do-while

O €leyyoc pong TPOYPAULOTOC LETAPEPETOL
OTO TEAOC TOL UTAOK TTOV TTEPLEYEL TNV EVTOAN
break kou extedeiton n emduevn emovainyn
TOV UTAOK (v avTO TPoPAETmETAL OO TNV

AVTIGTOLYN TIUN OEIKTN 1] GLVON KT EAEYYOV).



[Tapdoderypo continue

Int 1, ]=0;

for (1=0; 1 < 1000; ++1) {

If ((1 %5) 1=0) {

continue;

h

J=)1

Cout << “I=I<<* J="<<g<< “n”;

}



EvtoAn goto

Aniaovooue po etikéta (label) n ool
OVTIGTOLYEL GE KATOLN EVTOAT] G EENC

labelname: statement;
goto labelname;

XHMEIQXH: mepittn kot OuvnTikd emikivouvn
EVTOAT], YPNOLUOTTOIEITE LETA TTPOGOYNC!



[Tapdocryuo 3B

#include<iostream>
#include<math.h>
using namespace std;

Int main()

{
Int choice, n;
float X, y;



cout<<"\n enter value of x:";

CIN>>X;

cout<<"Choose function to calculate:\n";
cout<<"Enter 1 for square of x,\n";
cout<<"Enter 2 for cube of x,\n";
cout<<"Enter 3 for power of x,\n";
cout<<"Enter 4 for inverse of x,\n";
cout<<"Enter 5 for logarithm of x,\n";
cout<<"Enter 6 for absolute value of x,\n";
cout<<"choice=";
cin>>choice;



switch (choice) {

case 1:
y=pow(X,2);
break;

case 2:
y=pow(x,3);
break;

case 3:
cout<<"Enter exponent:";
cin>>n;
cout<<"\n";



y=pow(x,n);
break;
case 4.
If (x!1=(0.0))
y=1.0/X;
else

{

cout<<"Can not calculate
Inverse of zero\n"":

return -1;



break;
case 3.
if (x>(0.0))
y=log(x);
else

1

cout<<"Can not calculate
logarithm of non positive number\n";

return -1;

¥
break;



case O:
y=fabs(x);
break;

default:

cout<<"invalid choice
"'<<choice<<", exiting without calculation\n";

return -1;
h
cout<<"result y="<<y<<"\n";
return O;



